13春专升本高等数学模拟卷
选择题（20题）

1、设函数 [image: image1.png]f(x)



的定义域为[0，1]，则 [image: image2.png]fx+a)



的定义域为 

A. [image: image3.png][a, a+1]




B. [image: image4.png]



C. [image: image5.png]



D. [image: image6.png][-a.1-a]




2、设[image: image7.png]y=~2x? +x-1



 ；则该函数的定义域为

A. [image: image8.png](- ae)




B. [image: image9.png](ol o)




C. [image: image10.png])




D. [image: image11.png](oo ae)




3、[image: image12.png]f(x)



[image: image13.png]


, 那么[image: image14.png]J+x)=



 

A. [image: image15.png]1+x




B. [image: image16.png]



C. [image: image17.png]



D. [image: image18.png]4x




4、 [image: image19.png]F2700+ fA-x=x% W fG)




A. [image: image20.png]fx)= %(x’ +2x-1)




B. [image: image21.png]Feo=x +2x-1




C. [image: image22.png]fx)= %(x’ —2x+1)




D. [image: image23.png]Feo=x—2x+1




5、下列各组两个函数相等的是 

A. [image: image24.png]F(x)=sin x, g(x) = J1-cos’ x




B. [image: image25.png]J@=lgx*



,[image: image26.png]g(x)=21gx



 

C. [image: image27.png]Fx)=tan’ x



,[image: image28.png]



D. [image: image29.png]f®=



，[image: image30.png]fx
-1

glx)=




, 

6、[image: image31.png]244 -5
xsw DxF _Ox41





A. 1 

B. [image: image32.png]



C. [image: image33.png]



D. 0
7、[image: image34.png]sin 5x _

¥ gin dx




A. 1 

B. [image: image35.png]



C. [image: image36.png]ESEVY




D. [image: image37.png]| s




8、 [image: image38.png]x-sinx

2x°




A. [image: image39.png]



B. [image: image40.png]



C. 1 
D. [image: image41.png]



9、已知[image: image42.png]sin x
lim
=0 £(37)




 ，则 [image: image43.png]fim @8

i~



＝ 

A. [image: image44.png]



B. [image: image45.png]



C. [image: image46.png]



D. [image: image47.png]



10、设[image: image48.png]


 在 [image: image49.png]


连续，则[image: image50.png]


 ＝ 

A. 0 

B. 1 

C. 2 
D. 3
11、设[image: image51.png]


 ，则[image: image52.png]i J T TR =S (R =2
= 7



 

A. [image: image53.png]



B. [image: image54.png]



C. [image: image55.png]



D. [image: image56.png]-34




12、已知[image: image57.png]


 ，则[image: image58.png]


 

A. [image: image59.png]



B. [image: image60.png]



C. [image: image61.png]



D. [image: image62.png]—2"In 2




13、[image: image63.png]](cosx— sin x)dx =




A. [image: image64.png]sin x+cosx+C




B. [image: image65.png]—sin x—cosx+C




C. [image: image66.png]cos x—sin x+C




D. [image: image67.png]sin x—cosx+C




14、[image: image68.png][ sine’ax



＝ 

A. [image: image69.png]—cose” +C




B. [image: image70.png]e¥ —cose’ +C




C. [image: image71.png]cose” +C




D. [image: image72.png]e" +cose” +C




15、[image: image73.png]



A. [image: image74.png]



B. [image: image75.png]| s




C. [image: image76.png]



D. [image: image77.png]



16、[image: image78.png]z="(x+y"-2y)



的极值点为

A. (0,0) 

B. [image: image79.png]



C. [image: image80.png]



D. 没有极值点

17、幂级数 [image: image81.png]


的收敛区间

A. [image: image82.png]



B. [image: image83.png](-2,2)




C. [image: image84.png](-2,2]




D. [image: image85.png][-2.2)




18、A 是五阶方阵，[image: image86.png]4= -2



 ，则 [image: image87.png][ea?|



＝ 

A. -64 　　 

B.  64 　　 

C. -1/64 　 
D. 1/64
19、A.B 均三阶矩阵，[image: image88.png]|4]=4,



[image: image89.png]


 ,试求[image: image90.png][243|



 = 

A. -40 　　 

B. 40 

C. 160 
D. -160
20、矩阵 [image: image91.png]


[image: image92.png]


的逆矩阵为 

A. [image: image93.png]



B. [image: image94.png]



C. [image: image95.png]



D. [image: image96.png]



答案：

1 ~ 5:DCBAC  6~ 10:CCAAD
11~15:CAAAA   16~20:CBCDC
